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Exam tips


Advice on key points in the text to help you learn and recall content, avoid pitfalls and polish your exam technique in order to boost your grade.
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Knowledge check


Rapid-fire questions throughout the Content Guidance section to check your understanding.
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Knowledge check answers


Turn to the back of the book for the Knowledge check answers.
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Summaries





•  Each core topic is rounded off by a bullet-list summary for quick-check reference of what you need to know.
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About this book



This guide is designed to prepare you for the A-level OCR Macroeconomics exam and the A-level OCR Themes in Economics exam. It includes sample questions and answers to prepare you for both papers. In addition to the content covered here, you will need to be familiar with the content in Student Guide 2 to sit the A-level Macroeconomics exam and the content in Student Guides 1, 2 and 3 in order to sit the A-level Themes in Economics exam.


The guide is split into two sections:


Content Guidance


This section explains the core macroeconomics concepts required to excel in this course. This can be split into five broad topic areas:





•  Economic policy objectives and indicators of macroeconomic performance



•  Aggregate demand and aggregate supply



•  The application of policy instruments



•  The global context



•  The financial sector





You should make sure you have fully mastered all of the content in this guide before progressing to the practice questions. Use the knowledge checks as you work your way through the guide to test your understanding and take on board the comments to avoid falling into the traps that most commonly result in students losing marks. At the end of each topic area there is a bullet-pointed summary of the content covered — if you are unable to offer a detailed explanation of any part of this you should read the section again to clear up any misunderstanding.


Questions & Answers


This section begins by setting out the format of the exam papers, giving you advice on how long to spend on each question and offering important tips on how to maximise your marks on the different elements of the paper. It also explains the levels system used to mark essays.


This is followed by a series of sample questions. After all of these questions there are some example answers from students. You should practise all of these questions yourself and compare your answers to these while reading the detailed comments to improve your understanding of what is required to achieve full marks.





Content Guidance



Economic policy objectives and indicators of macroeconomic performance


Economic growth and development


Economic development is a process that results in improved standards of living for inhabitants of a country. While economic growth is the most obvious mechanism through which this can be achieved, this is not the only dimension of development — a country experiencing the wrong sort of economic growth that impacts only part of the population may not be developing, as large sections of society could still be living in poverty. In 2000 the United Nations agreed on the Millennium Development Goals, which act as targets for each less developed country (LDC), as priorities for development. These were:





•  Eradicate extreme poverty



•  Achieve universal primary education



•  Promote gender equality and empower women



•  Reduce child mortality



•  Improve maternal health



•  Combat HIV/AIDS, malaria and other diseases



•  Ensure environmental sustainability



•  Develop a global partnership for development.





Increasing real gross domestic product (GDP) per capita is clearly a route through which some of these goals can be achieved.
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Exam tip


Economic growth is considered a necessary but not sufficient condition for development to take place. This means that development will not be achieved without economic growth but that economic growth alone does not necessarily lead to development if it does nothing to reduce poverty or improve standards of education and health.
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Measuring economic development


GNI per capita


Gross national income (GNI) per capita is one of the main measures of economic development. It is preferable to using GDP per capita as it includes net income from abroad, which can be significant for some developing nations relying on remittances from citizens working in developed economies. It can be calculated by dividing GNI by the population to give an estimate of average income in the country.


This measure is relatively straightforward to calculate and is well established, meaning it is an indicator that is available for almost every country in the world. This enables comparisons to be made between countries. For example, in 2014 GNI per capita stood at $630 in Mozambique and $55,200 in the USA. From this data we can conclude that material standards of living are significantly higher in the USA than in Mozambique.
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Knowledge check 1


Using the PPP measure of GNI per capita, average income was $55,860 in the USA and $1,170 in Mozambique. How does this change the conclusions you may have reached about the relative standards of living in the two countries based on the US dollar estimates?
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However, there are a number of weaknesses with this measure of development which need to be recognised:





•  Exchange rate problems — to enable comparisons to be made between countries, GNI per capita is converted into US dollars at the official exchange rates. However, in many cases these exchange rates do not represent the true value of the currency in terms of the local purchasing power of incomes. This is because in many countries the government manipulates the value of the currency — an example of this is China, where the currency is deliberately undervalued to make exports price competitive. Even when left to the free market the exchange rate is determined by the price of internationally traded goods, which will be different to the standard basket of goods purchased by most consumers. To overcome this problem an alternative set of estimates — GNI per capita based on purchasing power parity (PPP) — has been produced to more accurately reflect the relative purchasing power of incomes in different countries. In general, these data suggest that the gap between low-income and high-income countries is not as big as initially suggested by the US dollar estimates.



•  The informal sector — in many LDCs there is a significant amount of economic activity in the informal sector. This may be illegal activity or legitimate activity that is not marketised, such as subsistence farming. Because GNI includes only recorded transactions, this measure is therefore likely to miss out much economic activity which takes place, meaning it does not give an accurate reflection of a country’s output.



•  Income distribution — GNI per capita provides data on average incomes but gives no sense of how income is distributed. GNI per capita could be rising as a result of a small group of wealthy individuals getting significantly wealthier while the majority of the population are getting a little poorer. Such a rise in GNI per capita would not represent economic development. Therefore, GNI per capita does not provide information on living standards across society.



•  Social indicators — standard of living depends upon more than just the material resources available in an economy. Clearly how such resources are used is important — quality of life is likely to be higher in a country using its income to develop its education and healthcare provision in comparison with a country using its income for military expenditure. The quality of the environment in which individuals live is also important and is something that can be distorted by GNI data — production that causes pollution can worsen individuals’ quality of life, but the cost of any policies designed to clean up this pollution, known as defensive expenditure, will actually enhance GNI, even though the net effect of the production is to worsen standard of living.





HDI and other social indicators


The Human Development Index (HDI) is an alternative indicator of economic development designed to deal with some of the criticisms of purely income-based measures. It has three main components, shown in Table 1.


Table 1






	
Component 

	
Justification for inclusion 

	
Measurement 






	Resources 

	The resources available in an economy dictate the potential standard of living available. 

	GNI per capita (in PPP%) — a proxy for individuals’ material standard of living. 






	Knowledge 

	Being able to make good use of available resources is crucial in achieving high standards of living. 

	Mean years of schooling (reflects past investment in education) and expected years of schooling (reflects current state of education). 






	Lifespan 

	Living long enough to make use of an economy’s resources will have a significant impact on standard of living. 

	Life expectancy — a proxy for individuals’ health. 







The measurements are combined to produce a composite index ranging between 0 and 1. The closer the HDI value is to 1, the higher the level of human development.


Economists continue to debate how important economic growth is to economic development. On the one hand, economic growth can directly contribute to improved education and life expectancy. But on the other hand, focusing on improved education and health can lead to higher economic growth. What is clear is that the GNI and HDI measures produce very different pictures of development. Countries such as Brazil and South Africa, for example, have seen rapidly rising GNI per capita but are much lower on the HDI ranking because of issues concerning inequality and poor life expectancy.
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Exam tip


It is important to recognise that the HDI is not a fully inclusive measure of economic development. There are many other factors that contribute to standard of living which are not included, such as average working hours, crime rates and the quality of the environment.
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Given the difficulties in reflecting economic development in one statistic, economists continue to use a range of different measures to assess development. In recent years the Genuine Progress Indicator (GPI) has become increasingly popular. This is comprised of 26 components covering economic, environmental and social factors and is designed to produce a broader measure of development than that provided by the HDI.


Economic growth and happiness


It may seem obvious that economic growth makes people happier — increased disposable income does after all enable individuals to enjoy a higher material standard of living. However, economist Richard Easterlin found that, while happiness and income appear to be correlated at a point in time, happiness does not appear to increase as income increases over time. This is known as the Easterlin paradox. It suggests that an individual’s happiness is determined more by their income relative to others around them than by their absolute level of income — this fits with traditional labour market theory, which argues that in wage negotiations individuals are more concerned with maintaining differentials with other occupations or roles within the occupation than achieving a particular absolute wage.


It is also clear to see that there are circumstances under which individuals’ happiness will fall as economic growth occurs. This is particularly true if the growth occurs as a result of longer working hours, which can increase stress levels and reduce leisure time.



Promoting economic development



The structure of economic activity


In 1960 economic historian Walt Rostow proposed a model outlining the five stages of economic growth that developed countries had passed through. This can be illustrated in Figure 1.
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The stages can be explained as follows:





•  Traditional society — most of the production takes place in the primary sector, with agriculture dominating economic activity. Investment and productivity are low.



•  The preconditions period — labour productivity begins to increase, which allows resources to be diverted to enable secondary sector production to develop. During this phase there is investment in infrastructure to provide the foundations for future economic growth.



•  The take-off — a 20–30-year period of rapid economic growth, fuelled by the emergence of entrepreneurs taking risks in rapidly expanding manufacturing output. Investment is high in this period.



•  The drive to maturity — a period of self-sustaining growth where economic activity becomes more diversified as a result of continued high investment. Tertiary sector production begins to occur.



•  The age of mass consumption — the economy is fully diversified, output per head continues to rise and consumption now accounts for a higher proportion of GDP.





Rostow argued that some countries remained trapped in the first stage of economic growth, largely because of the high dependence on the primary sector experienced by many LDCs. Because agricultural productivity tends to be low, this means income per head remains low and there are insufficient funds to generate the investment needed for development to take place. Moreover, given the declining terms of trade agricultural producers face in the modern world, alongside the inherent volatility in agricultural prices, individuals in economies reliant on agriculture face uncertain futures.



ODA and international trade



Overseas development assistance (ODA) is provided through the Development Assistance Committee of the OECD. There are a number of reasons why developed nations dedicate significant amounts to ODA each year:





•  Humanitarian motives — ODA can be used to provide access to clean water and improve healthcare to reduce child mortality rates and increase life expectancy.



•  Political motives — in some circumstances countries will give aid to nations that are not necessarily the world’s poorest nations because of their foreign policy objectives.



•  To promote trade — aid can provide the funds needed for investment to expand international trade, which can benefit both the recipient and donor countries. Trade is essential for developing nations as it gives them access to the capital they need to grow that they cannot produce themselves while also giving them markets of high-income consumers to sell to. For the donor countries the economic development of LDCs can provide them with larger export markets to sell to.





At a 1974 meeting of the United Nations countries agreed to dedicate 0.7% of their GDP to ODA. However, progress towards achieving this has been disappointing, with only a handful of Scandinavian countries such as Sweden, Norway and Denmark meeting the target.
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Knowledge check 2


ODA can come in the form of bilateral or multilateral aid. What is the difference between the two?
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Despite the investment in ODA, there is debate over its effectiveness, with a 1997 World Bank study finding that there is no evidence that such assistance improves the growth rate or quality of economic policies in the recipient nations, except in situations where the economic management of the country was already sound prior to receipt of the aid.


There are a number of possible reasons why aid may be ineffective:





•  LDCs have insufficient resources to be able to use the aid effectively.



•  Governments in LDCs are sometimes inefficient or corrupt, meaning funds are not used to benefit the population.



•  The sums of money donated are insufficient to deal with such fundamental problems in LDCs.



•  Aid is sometimes given as part of an aid-to-trade deal, where the recipient is required to purchase goods from the donor country at inflated prices as a condition of the aid.



•  When aid is tied to specific projects this means the funds cannot always be used to deal with the country’s top priorities, with donor countries sometimes tying aid to ‘prestige’ projects.



•  Receipt of aid can cause a country’s exchange rate to rise, worsening the international price competitiveness of exports. This is known as Dutch disease.





International organisations


There are a number of international organisations that exist to offer support to developing nations:





•  International Monetary Fund (IMF) — acts as a bank for central banks, providing short-term financial assistance to enable countries to finance balance of payments deficits. Such financial assistance usually comes with conditions, such as implementing contractionary fiscal and monetary policy.



•  World Bank — provides long-term funding for projects that promote development. Such funding is provided at commercial interest rates in situations in which commercial banks would see the lending as too risky.



•  World Trade Organization (WTO) — exists to promote free trade, encouraging the removal of barriers to trade between countries and in doing so improving developing countries’ ability to sell their products abroad.
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Exam tip


While organisations such as the WTO should theoretically make it easier for developing nations to compete, it is important to note that they are weakened by the vested interest that exists — ultimately these organisations are run by developed countries which often set policy to suit their own interests.
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Institutions such as the IMF and the World Bank have encouraged developing countries to adopt a series of policies known as the Washington Consensus, which primarily consists of market reforms to strengthen the role of markets in the economy. Economists have in recent years argued that the Washington Consensus presents a simplified view of the steps needed to achieve economic development as it ignores the importance of stable political and financial institutions. Moreover, the path China has taken to growth, blending markets with significant state control of assets, provides further evidence that there are a number of different ways in which development can be achieved.


Income distribution and welfare


Income is the flow of money over a period of time, including wages and interest from capital investment. Income inequality measures the extent to which income is distributed across the population — a high degree of income inequality means there are big differences between the earnings of those at the top and those at the bottom of the distribution of income. Income inequality can lead to poverty, which can be categorised into two types:





•  Absolute poverty — a situation in which individuals have insufficient income to purchase the basic necessities for survival (food, water and shelter).



•  Relative poverty — a situation in which individuals have insufficient income to participate in the normal social life of a country, defined as having an income level below 50% of median adjusted household disposable income.





However, there are a number of reasons why income inequality is not necessarily the best measure of inequality:





•  Absolute household income levels do not account for differences in household composition. Using equivalence scales can help solve this problem. For example, if a couple with no children is given a value of 1 and each child in the household adds 0.25 to the equivalence scale, then a couple with three children would be assigned a value of 1.75. Dividing household income by the equivalence scale (which in this instance would turn a £50,000 household income into £28,571) produces an equivalised income, which allows for meaningful comparisons to be made between households.



•  People tend to smooth consumption over their lifetimes, meaning differences in expenditure may be a better indicator of inequality than differences in income.



•  Differences in income can be partly offset by government policy. In countries where there are generous benefits systems and state provision of lots of services there may be little inequality, even when the distribution of income is unequal.
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Knowledge check 3


Which type of poverty is most common in the UK? Why is this?
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Wealth inequality is an alternative way to measure inequality. Wealth is defined as an accumulated stock of assets, such as savings and property. In the UK the distribution of wealth is more unequal than the distribution of income.


Measuring inequality


Income ratios


One method of measuring income inequality is to rank households in order of their incomes and then calculate the share of total household income that goes to a particular group of earners. The 90:10 ratio measures the ratio of the income earned by the top 10% of earners to the income earned by the bottom 10% of earners. In the USA the ratio is approximately 16, indicating that the richest 10% of earners earn 16 times more than the poorest 10% of earners. Sometimes earners are grouped into quintiles, i.e. in 20% groupings.


The Lorenz curve


The Lorenz curve provides a graphical measure of income inequality. In Figure 2 the line of equality represents a situation in which income is perfectly distributed within a country — for example, the bottom 20% of households account for 20% of national income.
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The further away the Lorenz curve is from the line of equality, the more unequal the distribution of income is. In Japan, for example, the 40% of households at the bottom of the distribution of income account for approximately 23% of national income while the 10% of households at the top of the distribution of income account for approximately 21% of national income.
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Knowledge check 4


Rank the countries in Figure 2 according to how evenly distributed income is, starting with the country with the most equal distribution of income.
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The Gini coefficient


The Gini coefficient provides a numerical measure of income inequality which allows for comparisons to be made between countries. It is calculated using the following equation:
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These areas are illustrated in Figure 3. The calculation will produce an answer between 0 and 1. The closer the coefficient is to zero, the more equal the distribution of income is — if the Lorenz curve was on the line of equality, Area A would not exist, giving a Gini coefficient of zero. The closer the coefficient is to one, the more unequal the distribution of income is.
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The further the Lorenz curve is from the line of the equality the larger Area A will be, the closer the Gini coefficient will be to one and the more unequal the distribution of income will be.


Causes of inequality and poverty


Inequality and poverty can be explained by a number of factors:





•  Labour market factors — given that wages are the biggest component of income, differences in wage rates provide the primary explanation for income inequality. Technological advancement has meant some individuals are engaged in very high-skilled and high-wage employment. However, immigration and growing international competition mean unskilled workers have seen their wages come under increasing pressure, resulting in many individuals being at the bottom of the income distribution because of low pay. The large number of individuals in part-time or temporary employment is causing further income inequality. Unemployment is also a cause of income inequality, particularly for young people as youth unemployment is particularly high.



•  Ownership of assets — inheritance is a cause of wealth inequality as it enables assets to be passed on to future generations within a family, allowing for the accumulation of wealth over time. Wealth inequality has increased in recent decades as a result of the significant rise in house prices, creating a large gap between the wealth of those who own property and those who are in rented or social housing.
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